Residual versus local y

E — — @ 1esXTO00GPst_physics 6035071.root ss (0,12]
o f—
~0.15 i
T - ——e—— 1esXTO00GPst_physics 6035071.root ss (12,24]
> n
i
D B — e resXTOOOGPst_physics _6035071.root ss (24,36]
q_) H H
O. 1 :
o - — e resXTOOOGPst_physics_6035071.root ss (36,48]
i oo |
O0.05 =i e P PP PP TP
i : .‘t :
~ : 8%
- D ..‘ ..
- 0® o : o ® o
O_' .......................................... ,. ......................................... ..~< ....................... .. ................
B o® : % Qe gD o
B : ® ° [
— e d
|— v
-0.05 ___.... .....................................................................................................
_ : LI :
_0.1_ I 1 1 1 I 1 1 I I.I 1 I 1 1 1 I 1 1 1 I 1 1 I 1 1

60 80 100 120 140 160 180

Wed Feb 9 11:46:45 2005 Local Y



